Answers

1 2 3 4 10

11 12 13 14 20

21 22 23 24 30

31 32 33 34 40

41 42 43 L4 50

51 52 $3 54 60

61 62 63 64 70

711 72 3 4 74 80 Children use equipment to show 24 is ten less
than 34 and 44 is ten more than 34. They use

81 | 82 | 83 | 84 90 equipment to show 69 is ten less than 79 and 389
is ten more than 79.

91 92 93 94 100

Ria has 74. If she gives ten away she will have 64.

Sam has S6. If he gets ten more he will have 66.

66 is greater than 64 so Sam will have more than Ria.

I am thinking of a number. It is 10 more than 41. @
sl

I am thinking of a number. It is 10 less than 15.
s

I am thinking of a number. It is 10 more than 65.
75

I am thinking of a number. It is 10 less than 98.
23
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